r\\wra"n’:"&‘;

LA

» -

A PRI, TR qifere 7, BIRET (8.7)

1%,/ 712/ ga / 2021 Rreq Tev 3. 110316 za, T 209202

T 3 Diegie Fifder arEe gae
T AR ifem fay, ZIET F Bafises, WWmei%rﬁfWﬁaﬂg@

A /W St B ettt o ¥y gz aw o w020 F TN R agg = G b

f&te o ey
iy g{-.. TR W0 2 E) 39 g m e o o © Z—3mgzic (E-Tendering) 2 =maw = B2 s7ng =

_—J\ Zd 7] 74 UIFEaq Wiy | g9 9y | sEEd T3 &7 g4 FRTigEn =
ﬁ £ ﬁ 0',-:'%'1 ;’:'A."—&

8 E. 39 FTATE TT Ao 2 2102016/~ | 15800/— | 04 712 g1 F— #=0 11102022 ¥ _
gfaform a7 (e
774 |(Fr 72)

N

W

[SA]

«©

-\ DT T . §
aORIRNR

16.

lc:’*?' »—“T'??Z /E-Tenden'n g) T e
T—'Tﬁ"’:"fl—"{‘—??T mf”qnl mlﬁ"ﬁ’ﬁ—_
W'@?aiﬁﬁf’?ﬁ T HEz=E

- S o
4od 12002 T9 @ Fda? 33.'1’\‘11 Ykl Y/ 4n

FEl

I3 P s
DaTxl Xivd 915 1A <degl $RAIG 4yd, PiRiga

§ -~ . AS i o
FINcizn ge=s o< "--M’.lé @Al Jimeid el |
o - g . - -
imigel 2 ?7’31'1 %1 fem o 92 29 vor @ T @ EZa9 @il
SO . - T : ~ - —~ = - - i ~=
=z = 51 o= T 7’..:1'/3i—l @l ?5-1. "1-:3-: &R € Giminel o992k (G491 {9 ¥9 IC @ et ) SEiman
. - e At - - S . . &
1896 TS TGEETIT IhEnxd g= & TG4 Gaidn @ximl JI938® gl Gl imHel arig @1 1 SoTt @@ o9
i 3 pLE Az
TTSE 259% 3 Herdl @l "nl
s = e s _s . PP S - e -
S 49 dsidd inaidal \_,7-:, C-ncm ml s—ctd mw GG Gl 19 PGk [isd i-id [acien RIESR {8 o=k i sl
= e e e .
=9E 4 ToldA o ~’-.’flp oT T iC’ l Sraki TGSt Yald Aol 1S4l FI6q01 |
e « . ~ = - - 4 : 22 i = -~ = = - ~ =~ -~ -
FISeITI &l Uoadh iHidel 5 Toldn &axal GD &G0 SURIT <1 X 1Y 41 &G 184N 9 919 Zid 129 vl <8 OIa;
- ~ ~ ~ 3 . ~ oy
@] 1eg=Yl T Hled Fyid | od TSdud ©ql FHiqeld g |
[y £ = e e T T -~ = = - —_— —_ = S . D -
F=2U 1T Y "'"m;a’i F Jof§ Ud% Ool €49l 5 < 5 WG Y&l VRI 01 §Y D 6% T8 05 Togg SomS
T TS ) o = = aE N =
faagiedl 21 MRE 7 ©9 § Ucdd T <991 7 W 03 99 Sl gl |
o L oo X e - T e
i=1gel € F4HFg G ;Esn’_'i ZF U2 954 imael gl | 99 © TF TAFELER
« a \ wes e e
D "-m,. #E MG % w9 A <'.5jacﬁé?.- EEg Q"-p.ETd-.'R._ GIe &P s, Cia"a IS =3
e

W«Wﬁa—r—q FE] @ A9 93 <8 BN W1 A A 9 15 69 B AR oA
FamrEfa 8 99 7 @4 @1 g9 | [Hga @9aa e am S

Eaer 71 T @1 gy @ [Qgd AHE @1 T 8% 3 e | Ba @ st g

fxfaar vag weeaiaeia g @ |ed HiEesT ® ffEr 58 B T..-:Tns

fafrar 7 @49 | (54 vER 3 faarg €9 &1 fafa 7 a1gw faoig s wd9mg 2y

fafae ¥ &9 399 FEIEGA 74 @ SHER TR Uee W @ W goNd 8|

gAmmsr sz @ e A nmA s IR R s sdRa I v s ed @ Prgg = oiiw 1 B &
Tt farraarh Hiftm sn & @ |
Wﬁ%ﬂaﬂﬂﬂmrﬁwwﬁ“mﬁmw*ﬁqmﬁmﬁm TEITS ST ws g

afafafa-

TR, FATEAIerd, N e Ud fawm A wgw @ vad.cg.gov.in ¥ suee wwd &g iR



£

,Scd:[ ) .
, Nagar Nigam Stage

Y
e

|

W

1 ;Re!ease Tender

- TenderOpen |

Bid Submission

Contractor Stage '

23.09.2022

Start

Date

23.09.2022

11.10.2022

Date-Time Detail(s)

Expiry

Date

23.09.2022

10.10.2022

Time

17.30

17.30

Remarks

Release Tender

F%@mmissioner Korba (C.G.)




B41035200920 :

Rev11KV+LT lin Ward.39 Aajad

LS S RO s

7130797533
7130390003
7130390006
7130797532
7130300025
7130620573
7130620609
7130620614
7131950012
17130810102
7130311008
7130390007
7130390019
17130320053
| 7130601958
| 7130810495
17130810679
17130870013
7130820008
7130830057

|

17130810692
17130200202
17130211158
17130210809

[ 7130610206

[7130880041

' {7130830006

i 17130620609

) 7130620614

7130620625

3000124
3000125
3000124

451V (Rajkumar Sonkarhhike 3.02% on Labour charge
"V (Emp. N

v

| 7130860033 STAY

.‘:
SUSPENSION CLAMP |BLSP

INSULATING PIERCING CONNECTOR AB CABLE(S|BLSP
UDC- UNIVERSAL DISTRIBUTION CONNECTOR [BLSP
ANCHOR CLAMP/ DEAD END CLAMP BLSP

LT AB CABLE 3X70+1X16 (STREET LIGHT)+1X5|BLSP
BOLT WITH NUT M S 12X100 MM

_mrmv
M S NUTS AND BOLTS: - 16x40mm |BLSP
M S NUTS AND BOLTS: - 1{6x65mm |BLSP
DISTRIBUTION BOX 3 PH 4 CONNECTOR |BLSP
Service ring made of 16 mm BLSP

ALUMINIUM 1C 16 SQ MM UNARMOURED LT PVC |BLSP
STRAIGHT THROUGH JOINT

IBLSP
END CLAMP CAP FOR 50/70 SQMM |BLSP
CABLE TIE FOR AB CABLE (UV PROTECTED BLA BLSP
,I BEAMS 152X152MM: 37,1 KG/MTR. IBLSP
|11 KV V CROSS ARM ermw
___z< top clamp {BLSP

'EARTHING COIL B8SWG GI WIRE 50MM DIA 450M'BLSP
,4_x< 5KN PIN INSULATOR (POLYMER) |BLSP
|ACSR CONDUCTOR 0.05 Sgmm (50 Saqmm Al g) BLSP

SET WITHOUT STAY WIRE 20mm (Painted|BLSP

_w_wommoomeMH>< WIRES @ = 7/4,00 MM (7/8 SWG). mwrmv
|Stay clamp for ‘H' Beam ' |BLSP
|CONCRETE 1:3:6 RATIO |BLSP
(Red Oxide Paint. |BLSP
_>_:3m:_c3 Paint. BLSP
|G. 1. WIRES: - Barbed wire. BLSP
V.‘I_womwoouLOm:nmq boards 33KV & 11 KV. BLSP
BINDING WIRE ) . BLSP
M S NUTS AND BOLTS: - 16x40mm : BLSP
M S NUTS AND BOLTS: - 16x65nmm BLSP
M S NUTS AND BOLTS: - 16x140mm BLSP

LABOUR SCH FOR A2B-11(AL-2.LABOUR CHARGE
Labour charge for concreting
LABOUR SCH FOR A28-11(AL-2.LABOUR CHARGE

0. 04450929) ,

Overhead charges @ 12.5 %
Incidental charges @ 7.5 %
Transpotation

Supervision charge @ 15%

CGST @ 9%

SGST @ 9% .
GST included in material

hike 3.02% on material

hike 3.02% on Transportation charge

Qe S.E., Cirele, CSED

Excentive E

Axg

A AT € M LAY NG

>

Olo City 8n,,CSPDCL Korba

U S—.

442 .63
86 .
123.
609.
180,079.
71.58
71.59
70.40
1,231
355 .82
14.20
174.70
29
5.5
53.88
1.091.69
306.26
118.52
132.09
34.70
829 .62
71.98
333.29
2.970.00
151.45
338.40
78.50
92.60
160.41
71.59
70.40
69.20

60,891.38
609.17
51,320.56

56.220.48
27,997.46
9,453.38
61,804.13
5.562.37
5.662.37
56,943.99
10,943.16
285.49
1,135.30

|
|
|

3.983..7
3,131 .64
1,483 44
1,219 .64
57.265.38
143.18
465.34
457 .60
11,080.71
3.202.38
766 .80
349 .40
238 .88
834 00
197,895.85
9.825.21
2.,756.34
1.066.68
3.566.43
32.166.90
2.488.8¢
1,835.49
999 .87
19,156.50
530.08
1.184.40
1.,413.00
833.40
721.85
71.59
633.60
588.20

1362.356.31

18,267.41
3.928.15
15,396.17
37.592.73
56,220.48
27,997 .46
9,453.38
61.804.13
5,562.37
5,562.37

56,943.99~

10,943.16
285.49
1.135.30
122,020.15

<1426
[E20u0426
EZ200426
|E200426
IE200426
£206426
[E200426
E200426
E200426
E200426
£E200426
£200426
E200426
E200426
E200426
£200426
£200426
£200426
E200426

£200426
E200426
E200426
E200426
E200426
E200426
|E200426

|[E200424
|[E200424

£200424

|£200424

E200424
£200424
£200424
£200424
E200424
£200424
£200424
£200424
E200424

A
9 |NO
36 |NO
12 Vzo
2 |NO
318 (M
2.000 |KG
6.500 |KG
6.500 |KG
9 |EA
' 9 |NO
54 M
| 2 'NO
8 |NO
A 150 |NO
13.672.900 |KG
| 9 | NO
, 9 NO
, 9 |NO
, 27 |NO
A 927 M
W 3 |NO
, 25.500 |KG
| 3 |NO
| 6.450 |M3
, 3.500 |L
| 3.500 |L
| 18.000 |KG
| 9 |NO
. 4.500 |KG
” 1.000 |KG
, 9.000 |KG
8.500 |KG
0.300 |NO
6.450 |M3
0.300 |NO
1.000
1.000
1.000
1.000
1.000
1.000
1.000-
1.000
1.000
1.000
tEngineer

- — -
—_ . e s s = -



-E ‘ P B8 P ¢

i I

e LD O

\&\N
~

(Raj ..:mﬂ.. Sonkary

(Emp. No. 1230029)

Frccutive k.. meen

(o S.E. Creele, OS2 0L, KQRBA

SCNTATIEN) | KT | ST | ESETsOrrs

521.969.19

11t Engineer
Olo City €n, ,C3PDTL Karha

e A0S



B41035200821 : rev11KV line Ward.39 Aajad na
ETEhng BYS) 3 S O B FO kAt LY RTIN & EPIOED j&
1M 7130601965 MS H BEAMS 152X152MM, 37.1 KG/MTR 11MTR|BLSP 2,040.500 |KG [53,879.18 109,967 .41 E2C \k_&» 1
2|M 7130810495(11 KV VvV CROSS ARM BLSP 5 NO 1,091.69 5,458 .45 E2004z0 1
3|M 7130810679 ({11KV top clamp BLSP 5 |NO 306.26 1,531.30 |E200426 1
4 (M 7130870013 |EARTHING COIL 8SWG GI WIRE 50MM DIA 450M|BLSP 5 |NO 118.52 592.60 [(E200426 1
5|M 7130820008 | 11KV 5KN PIN INSULATOR (POLYMER) BLSP 15 |NO 132.09 1,981.35 |E200426 1
6|M 7130830057 | ACSR CONDUCTOR 0.05 Sgmm (50 Sgmm Al q) BLSP 556.200 |M 34.70 19,300.14 |E200426 1
7|M 7130200202 |CONCRETE 1:3:6 RATIO BLSP 3.650 |M3 2,970.00 10,840.50 |E200426 1
8 |M 7130211158 |Red Oxide Paint. BLSP 2.500 L 151.45 378.63 |E200426 1
9 M 7130210809 |Aluminium Paint. BLSP 2.500 L 338.40 846.00 [E200426 1
10| M wdwomdomom_m._. WIRES: - Barbed wire. BLSP 10.000 KG 78.50 785.00 |E200426 1
11 (M 7130880041 7130880041Danger boards 33KV & 11 KV. BLSP 5 |NO 92.60 463.00 |E200426 1
12|M 7130830006 |BINDING WIRE BLSP 2.000 KG 160.41 320.82 |E200426 1
13|M 7130620609 M S NUTS AND BOLTS: - 16x40mm BLSP 1.000 |KG 71.59 71.59 |E200426 1
14 |M 7130620614 /M S NUTS AND BOLTS: - 16x65mm BLSP 5.000 |KG 70.40 352.00 |E200426 1
15|M 7130620625 |M S NUTS AND BOLTS: - 16x140mm BLSP 4.500 |KG 69.20 311.40 |[E200426 _ 1
23 (M 7130830051 | JOINTING SLEEVE FOR DOG CONDUCTOR BLSP 3 EA 145.57 436.71 Wmmoohmm 1
. m#,Z A.:wommoo.\m STAY WIRES : — 7/4.00 MM (7/8 SWG). BLSP 17.000 (KG 71.98 ” 1,223.66 |E200426 1
| 25|M ,wdmommooum STAY SET WITHOUT STAY WIRE 20mm (Painted|BLSP 2 |NO 829.62 | 1,659.24 |E200426 1
26 |M #N_wom_ommm Stay clamp for 'H' Beam BLSP 2 |NO 333.29 _, 666.58 |E200426 1
* M W 1157,186.38 |
| 16N fwooof: Labour charge as per Sch. CL-4 0.180 [NO |60.891.38 ,_ 10,960.45 |E200424 1
17 |N | 3000142 Labour charge for concreting 3.650 |M3 609.17 | 2,223.47 |E200424 1
* N | _ 13.183.92
18!V _ Overhead charges @ 12.5 % 1.000 23,680.66 | 23,680.66 E200424 1
19|V _ Incidental charges @ 7.5 % 1.000 12,145.01 7 12.145.01 E200424 1
\ 20|V Transpotation 0.180 9,624.67 ! 1,732.44 |E200424 1
21|V Supervision charge @ 15% 1.000 26,327.32 q 26,327.32 |E200424 1
22|V CGST @ 9% . 1.000 2,369.46 | 2.369.46 |E200424 1
27 'V SGST @ 9% 1.000 ' 2,369.46 m 2,369.46 |E200424 1
28 |V GST included in material 1.000- :|24.701.71 | 24.701.71-|E200424 1
29 |V Hike 3.02% on material 1.000 4,747.03 4,747 .03 |E200424 1
30|V Hike 3.02% on Transportation charges 1.000 52.32 52.32 |E200424 1
31V Hike 3.02% on Labour charge 1.000 398.15 398.15 |E200424 1
* Vv 49,120.14
|
s Tsw.hmo.i L
(Rajkumar Sonkar)-
{Emp. No. 04450929)

Executive Engineer,
0O/o S.E., Circle, CSPDCL, KORBA

Asgis

Olo City D



Executive Engineer,
/o S.E., Circie, C3PRCL, KORBA

S
t
. o\cnzws.bmvunrg&m

Engineer

B41035200922 = relx100KVA Dist.Xmer Aajad na
gﬂ unnLy | ETm A 24 Y W b
o - - — - i
1M 71832210020 XMER 100KVA 11/.4KV ENERGY EFF|. LEVEL2|BLSP 1 |NO |129,3556.28 |129,365.28 |E20047, ﬂ
2 (M 7130601965| MS H BEAMS 152X152MM, 37.1 KG/MTR 11MTR|BLSP 816.200 |KG | 53.879.18 | 43.965.41 |E200473
3|M 7130810517 11KV 8 FEET CENTRE DC CROSS ARM BLSP 1 |NO 4,736.61 | 4.736.61 |E200424 m
4 (M 7130810509 |D.0. / LA Mounting channel 75x40 mm. BLSP 1 [NO 1,730.26 1,730.26 |£200424 l
5|M 7131930412|DO fuse units 11KV BLSP 3 |NO 1,177.88 3,533.64 |E200424
6(M 7130600023 |M S ANGLE 50X50X5 MM BLSP 20.000 |KG 43.12 | 862.40 |E200424
7|M 7130860032 |STAY SET WITHOUT STAY WIRE16mm Palint11KV|BLSP 4 |NO 455.31 | 1,821.24 |E200424
8 |M 7130860077 |STAY WIRES: - 7/3.05 MM (7/10 SwWa) BLSP 22.000 |KG 72.69 | 1.599.18 |E200424
9 (M 7130810692 |Stay clamp for 'H' Beam BLSP 4 |no | 333.29 = 1,333.16 |E200424
10| M 7130200202 |CONCRETE 1:3:6 RATIO BLSP 2.100 (M3 | 2,970.00 | 6.237.00 |E200424
11|M 7130600023 |M S ANGLE 50X50X5 MM BLSP 34.000 [KG | 43.12 1.466.08 [£200424
12|M ﬂamommomo_kqﬂm:m*oqamq mounting 100 x 50 mm channel |BLSP 1 I[NO | 4.736.61 4,736.61 |E200424
q 13|M 7130880041 /7130880041Danger boards 33KV & 11 KV. BLSP 1 [NO | 92.60 92.60 |E200424
| 14|M 7130641396 |PIPE Gl 40 MM MEDIUM QUALITY BLSP 9 gz 222.08 1,998.72 |E200424
15 1M 7130870043 G.1. WIRES: - 4,0MM (8 SWGE) BLSP 15.000 |KG 65.01 975.15 |E200424
” 16 M 7130610206 |G. 1. WIRES: - Barbed wire. BLSP 4.000 |KG 78.50 314.00 (E200424
_qﬂz 7130211158/ Red Oxide Paint. BLSP 3 (L | 151.45 454 .35 |E200424
18(M 7130210809 |Aluminium Paint. BLSP 3 (L | 338.40 1.015.20 [E200424
19|M #N_mompoom@ﬁr_mzqz_zo ARRESTORS11 KV gapless type. BLSP 3 [NO | 328.57 985.71 |E200424
| 20| M [7130620609|M S NUTS AND BOLTS: - 16x40mm BLSP 1.000 "|KG | 71.59 71.59 |[E200424
m,/g |7130620614 /M S NUTS AND BOLTS: - 16x65mm BLSP 4.000 |KG | 70.40 281.60 |E200424
| 22|M ,qémommommw,z S NUTS AND BOLTS: =- 16x140mm BLSP 4.000 [KG | 69.20 276.80 E200424
ﬂ 23 |M q,mommommdrg S NUTS AND BOLTS - 16x200mm BLSP 5.000 |KG | 69.20 346.00 |[E200424
" 24 |M ﬂ_mﬁmmo_om,o_mqm_mcq_oZ BOX FOR MSEB TYPE 100 KVA T|[BLSP 1 |[NO | 19.725.80 19,725.80 |E200424
, 33|M 7130820008 |11KV 5KN PIN INSULATOR (POLYMER) BLSP 9 |NO 132.09 1.188.81 |E200424
1 34 M _wﬂmomdopmm‘__ KV V CROSS ARM BLSP 2 [NO 1.091.69 2,183.38 |E200424
| 35|M \u_mom_omwm 11KV top clamp BLSP 2 |NO 306.26 612.52 |E200424
36 |M 7130311010 |[ALUMINIUM 1C 70 SQ MM UNARMOURED LT PVC |BLSP 40 (M 51.47 | 2,058.80 |E200424
“ 37 (M . |7130311009|ALUMINIUM 1C 50 SQ MM UNARMOURED LT.PVC |BLSP 120 M 37.15 | 4,458.00 |E200424
[ x M ; : '1238,415.90 |
25 (N 3000157 Labour charges as per Sch. CL-3 1 |NO 12.656.58 ; 12.656.58 |E200424
f 26 |N 3000158 Labour charge for concreting 2.100 |M3 609.17 | 1,279.26 |E200424
1 27 |N 3000295 Service in lieu of Earthing Coal & Sand 1 |NO 8,297.68 | 8.297.68 |E200424
Le N | 22,233.52
28|V Overhead charges @ 12.5 % 1.000 36.657.19 \ 36,657.19 |E200424
29|V Incidental charges @ 7.5 % 1.000 18,421.20 18,421.20 |E200424
30 (v Transpotation 1.000 6.130.14 » 6.130.14 |E200424
31|V Supervision charge @ 15% 1.000 40,278.15 | 40.278.15 |E200424
32|v CGST @ 9% 1.000 3,625.03 3,625.03 |E200424
38|V SGST @ 9% 1.000 3.625.03 3,625.03 [E200424
39|v GST included in material 1.000- 37.466.86 | 37,466.86-|E200424
40|V Hike 3.02% on material 1.000 7.200.16 7.200.16 |E200424
41,V Hike 3.02% on Transportation charges 1.000 185.13 185.13 |E200424
Toaziv Hike 3.02% on Labour charges 1.000 671.45 671.45 |E200424
# quum\\M < JA)// 79,326.62
e ﬁuu—;cnmmwwc:w»ww 339,976.04
| {Emp.No.04450429) .\ i _
7




541035200823 : relx100KVA Dist.Xmer Aajad na

1 |NO
816.200 |KG
1 NO
1 |NO
3 |NO
20.000 |KG
4 |NO
| 22.000 |KG
, 4 |NO
| 2.100 (M3
34.000 |KG
1 |NO
4 1 |NO
_ g M
| 15.000 |KG
| 4.000 |KG
[ 3 mr
3 L
| 3 |nO
[ 1.000 wxo
| 4.000 |KG
4.000 |KG
[~ 5.000 kG
W 1 |NO
m 6 |NO
, 1 [NO
“ 1 |NO
3 |NO
3 |NO
1 |NO
120 |M
40 |M
1 |NO
2.100 (M3
1 |NO
1.000
1.000
1.000
1.000
1.000
1.000
1.000-| .
1.000

129.355.28
53,879.18 |
4,736.61
{,730.26
1.177.88

43.12
455.31
72.69
333.29
2.970.00
43.12
4,736.61
92.60
222.08
65.01
78.50
| 151.45
338.40
328.57
, 71.59
70.40
69.20
_ §9.20
| 19.725.80
” 132.09
| 1,091.69
, 306.26
‘ 118.10
| - 123.43
ﬁ 3,361.56
M
|

37.15
51.47

12.656.58
609.17
8.297.68

36.974.88
18.5988.52
6.130.14
40,632.79
3.656.95
3,656.95
37.827.50
7.269.47
185.13
671.45

eS| EOSEY | EESSIEEEDS | [ AN e
1M Mﬁamum_oomod XMER 100KVA 11/.4KV ENERGY EFFI. LEVELZ2 BLSP
2N 7130601965 MS H BEAMS 152X152MM, 37.1 KG/MTR 11MTR|BLSP
3 M 7130810517 11KV 8 FEET CENTRE DC CROSS ARM BLSP
LM 7130810509 D.O. / LA Mounting channel 75x40 rmm. BLSP
5N 7131930412 DO tuse units 11KV BLSP
8 'M 7130800023 M S ANGLE 50X50X5 MM BLSP
7T M 71308680032 STAY SET WITHOUT STAY WIRE16mm Paint1 1KV |BLSP
g8'M 7130860077 STAY WIRES: - 7/3.05 MM (7/10 SWQ) BLSP
S At 7130810822 Stay clamp for 'H' Beam BLSP
10 M 7130200202 CONCRETE 1:3:6 RATI10 mmrmv
I REE.\ 7130600023 M S ANGLE 50X50X5 MM ”wrwﬂ
12 M 7130850201 Transtormer mounting 100 x 50 mm channel BLSP
13 M 7130880041 7130880041Danger boards 33KV & 11 KV. {BLSP
14 M 71306241388 PIPE Gl &0 MM MEDIUM QUALITY BLSP
15 M 71308700423 G. 1 WIRES: - &.0NM (8 sSWQ@) Jwrmﬁ
18 M 71306102068 G.1. WIRES: - Barbed wire. BLSP
ITN 7130211158 Red Oxide Paint. IBLSP
is M 7130210S0% Aluminium Paint. |BLSP
1S M 7130840028 LIGHTNING ARRESTORS11 KV gapless type. "mrwﬂ
20 W 71230620608 M S NUTS AND BOLTS: - 16x40mm IBLSP
21 W 713052051« M S NUTS AND BOLTS: - 16x65mm mwrwv
22 M 7130820825 M S NUTS AND BOLTS: - 16x140mm BLSP
23 M 71306205231 M S NUTS AND BOLTS - 16x200nmm <GFWT
24 A 712195010 DISTR!IBUTION BOX FOR MSEB TYPE 100 KVA T 'BLSP
33 M 7130820008 11KV S5KN PIN INSULATOR (POLYMER) WWFWU
34 M 7130810495 11 KV V CROSS ARM JWHwU
35 M 7130810878 11KV teop clamp _mrmﬂ
36 M 7130820010 11KV 45KN DISC INSULATOR T&C TYPE (POLYM|BLSP
37 M 7130820241 11 KV Strazin hardware fittings. BLSP '
3B M 7130810681 11KV cut point channel paint BLSP :
3¢ 7130311002 ALUMINIUM iC 50 SQ MM UNARMOURED LT PVC |BLSP
20 M 7130311010 ALUMINIUM 1C 70 sQ MM UNARMCURED LT PVC (BLSP
‘M
25 N 3000157 'LABOUR SCH FOR c-7-(11) A. LABOUR CHARGE
26 ' H 13000158 ' LABOUR SCH FOR c-7-(11) B. SERVICES
27 N 3000285 | LAB SCH FOR c-7-(11)_C.SERVICES EARTH
N { {
28V |overhead charges @ 12.5 %
28V 'Incidental charges @ 7.5 %
30'V ,A«N:wnoamn,o:
31lv w ISupervision charge @ 15%
32\v | |CGST @ 9%
41 v _ {SGST @ 9%
42 v i |{GST included im material
431V ; Hike 3.02% on material
44 <AMW\\) 'Hike 3.02% on Transportation charge
45 uwwmqr: P Hike 3.02% on Labour charge
. 1kumar Sonkar}
AR e D4450073) - —
o H\H.auﬁ.wn.,.nmw.nu £ .N n...msn.m\«\ .

£

e

12

4

240,710.83 m
|
|

.
|

,

,

9.355.28 |€200- 3§ |
3,065 41 |E2008z4
4,736.61 |E200424
1.730.26 |€200424 |
3,533.64 |E200424 /
862 .40 |E200424
.821.24 |€200424 |

1
1.599.18 | £200424 /
1

.333.16 |E200424 \

6,237.00 |E200424
1.,466.08 E200424
4.736.61 |E200424
92.60 E200424
1.998.72 |[E200424
975.15 |€200424
314.00 E200424
454 .35 E200424
1,015.20 E200424
g85.71 E200424
71.59 €£200424
281.60 £200424
276.80 £200424
346.00 E200424
19.725.80 E200424
792.54 E200424
1.091.69 E200424
306.26 E200424
357.30 |E200424
370.29 E200424
3.361.56 E200424
4.458.00 E200424
2.058.80 |E200424

12,656.58 |E200424
1,279.26 |E200424
8.,297.68 wmmoo»mh

22.233.52

36.974.88 |E200424

18.598.52 |[E200424
6.130.14 {E200424
40,632.79 |E200424
3,656.95 |E200424
3.656.95 |E200424
37,827.50-|€200424
7.269.47 |E200424

185.13 |E200424
671.45 |E200424
79.,948.78

I | S | G

—_—



AT

SN TSN

MR _ oy 27 5 E#
w - : : TR 342,863.13 | W

- & . - _




841035200824 : RelT line on AB cable Aajad n

< e ot QU el poy HEsTa i $A ey GTAB (7R P Y
6|M 7130600675|(R S JOIST 175X85 MM BLSP 7.070.840 |KG 44.92 317,622.13 |z pa2g | ‘,)
7IM 7130797533 | SUSPENSION CLAMP BLSP 39 |NO 442 .63 17,262.57 |E200426 | 4 |
8|M 7130390003 INSULATING PIERCING CONNECTOR AB CABLE(S|BLSP 156 |NO 86.99 13.570.44 |E200426 | 1
g(M 7130390006 | UDC- UNIVERSAL DISTRIBUTION CONNEGTOR BLSP 39 |NO 123.62 4,821.18 ,mmooumm \ 1
10(M 7130797532 | ANCHOR CLAMP/ DEAD END CLAMP BLSP 5 |NO 609.82 3,049.10 ,mmoopmm { 1
11|M 7130300025 |LT AB CABLE 3X70+1X16 (STREET LIGHT)+1X5|BLSP 1,060 |M [180,079.80 190,884.59 |€200426 .
12|M 7130860032 | STAY SET WITHOUT STAY WIRE16mm Paint11KV|BLSP 24 |NO 455 .31 10.927 .44 |E200426 1|
13|M 7130860077 |STAY WIRES: - 7/3,05 MM (7/10 SWG) BLSP 144.000 |KG 72.69 10.467.36 Mmmoonmm 1|
14(M Mw_momdoomm,m~m< clamp LT/Pair BLSP 24 |NO 160.97 | 3.863.28 |E200426 1 §
15 (M /7130200202 CONCRETE 1:3:6 RATIO BLSP 18.450 |M3 2,970.00 | 54,796.50 |E200426 1 i
m 16 (M | 7130620573 BOLT WITH NUT M S 12X100 MM BLSP 4.000 |KG 71.59 286.36 E200426 1
M 18 |M 17130620609 M S NUTS AND BOLTS: - 16x40mm BLSP 27.000 |KG 71.59 | 1,932.93 E200426 1
ﬁ 19 1M 7130620614 M S NUTS AND BOLTS: - 16x65mm |BLSP 27.000 |KG 70.40 | 1,900.80 E200426 1
" 20 M Wq_womqoo_u EARTHING COIL 8SWG Gl WIRE 50MM DIA 450M|BLSP 10 [NO 118.52 | 1.185.20 E200426 1
21 M 7131950012 DISTRIBUTION BOX 3 PH 4 CONNECTOR |BLSP 39 |EA 1,231.19 | 48,016 41 E200426 1
23 |M 7130211158 Red Oxide Paint. IBLSP 19.500 |L 151.45 | 2,953.28 'E200426 1
24 M 17130210809 Aluminium Paint. 'BLSP m 19.500 |L 338.40 £.598.80 [(E200426 1
25 (M 7130810102 Service ring made of 16 mm 'BLSP L 39 [NO 355.82 13.876.38 £200426 1
, 26 |M 17130311008 ALUMINIUM 1C 16 SQ MM UNARMOURED LT PVC BLSP 234 |M 14.20 3,322.80 [E200426 1
\ 27 M 7130390007 STRAIGHT THROUGH JOINT BLSP 8 |NO 174.70 | 1,397 .60 |E200426 1 3
| mmﬂ; /7130390019 |END CLAMP CAP FOR 50/70 SQMM BLSP 8 |NO 29.86 | 238.88 [E200426 1
i 29 M 7130320053 | CABLE TIE FOR AB CABLE (UV PROTECTED BLA BLSP 500 |NO 5.56 2.7806.00 |E200426 1
= M fiare - | 711.754.63
2N ﬁ,wooc_mm Labour charge for concreting | 18.450 |M3 609.17 _ 11.238.18 (E200424 1
! mm.ﬂz 3000124 Labour charge as per sch. DL-7 | 1 |NO 70,232.62 | 70,232.62 E200424 1
I* “IN h | : _ i 81.,471.81
ﬁ 1|V , 'Overhead charges @ 12.5 % , 1.000 109.889.86 | 109,889.86 E200424 1
m 3/v N lIncidental charges @ 7.5 % 1.000 54,993.72 | 54,993.72 |E200424 1
| alv ] ‘Transpotation . . ~0.480 14.041.19 | 6.739.77 £200424 | 1
5\v J 'Supervision charge @ 15% ; 1.000 122,577.28 | 122.577.28 |E200424 1
M 17|V _ [CGST @ 9% 1.000 11,031.96 11.031.96 [E200424 1|
m 30|V |SGST @ 9% 1.000 11,031.96 11.031.96 |E200424 m t |
| 31v |GST included in material 1.000- 111.851.64 111,.851.64-|E200424 M 1 _ :
u 32|v Hike 3.02% on material 1.000 21,494.99 21,494.99 |E200424 | 1 | p\
! 33|v Hike 3.02% on Transportation charge 1.000 203.54 203.54 |E200424 _ 1
| 341V Hike 3.02% on labour charges 1.000 2,460.45 2,460.45 |E200424 ! 1
e ‘< , 228,571.89 | _
t i
- * _ d f 1,021,798.33 \ % |
(Rajks 2
) {Emp, ) . M
M.« b5 P "m
0/o S.E., Ciepte t Engineer

Olo Clty Dn.,CSPDCL,Korka

Y |



